
11/3

Moeller FK4810-1143GB-INT

G
en

er
al

 a
cc

es
so

ri
es

Individual parts and material conform to assembly manual BA4810-0015

Note: Necessary number and exact use of the following listed articles should be taken from the BA 4810-0015 assembly manual. 
The details listed below are only intended as ordering help.

Rated size Standard Quality Length Description Part no.
Article no.

Std. pack

mm
Self-tapping screws

M4 DIN 7500 – 16 M4X16, LINSENKOPF, 
FORM C, VZN

XNGFS-M4X16
288963

1 set of 100 off

M5 10 M5X10, LINSENKOPF, 
FORM C, VZN

XNGFS-M5X10
288964

M6 12 M6X12, LINSENKOPF, 
FORM C, VZN

XNGFS-M6X12
288965

20 M6X20, LINSENKOPF, 
FORM C, VZN

XNGFS-M6X20
288966

Hexagon-head screw
M8 DIN EN 24017 – 16 M8X16, VZN XNSKS-M8X16

288978
1 set of 50 off

45 M8X45, VZN XNSKS-M8X45
288979

M10 DIN EN 24014 8.8 60 M10X60-8.8 XNSKS-M10X60-8
288980

70 M10X70-8.8 XNSKS-M10X70-8
288981

80 M10X80-8.8 XNSKS-M10X80-8
288982

100 M10X100-8.8 XNSKS-M10X100-8
288983

1 set of 30 off

120 M10X120-8.8 XNSKS-M10X120-8
288984

140 M10X140-8.8 XNSKS-M10X140-8
288985

160 M10X160-8.8 XNSKS-M10X160-8
288986

180 M10X180-8.8 XNSKS-M10X180-8
288987

190 M10X190-8.8 XNSKS-M10X190-8
288988

M12 55 M12X55-8.8 XNSKS-M12X55-8
288989

70 M12X70-8.8 XNSKS-M12X70-8
288990

80 M12X80-8.8 XNSKS-M12X80-8
288991

90 M12X90-8.8 XNSKS-M12X90-8
288992

T-head bolts
with lug

M10 DIN 188 8.8 30 M10X30, VERZ XNHKS-M10X30
288967

1 set of 50 off

50 M10X50, VERZ XNHKS-M10X50
288968

Saucer-head screw
with square neck

M12 DIN 603 8.8 50 M12X50-8.8 XNFRS-M12X50-8
293899

1 set of 30 off

70 M12X70-8.8 XNFRS-M12X70-8
293970

Hexagon nut
M5 DIN EN 24032 – – VZN XNSKM-M5

288972
1 set of 50 off

M6 DIN 6923 VZN, FLANSCH/VERZAHNG. XNSKM-M6
288973

M8 DIN EN 24032 VZN XNSKM-M8
288974

M10 XNSKM-M10
288970

M12 XNSKM-M12
288971


	00__IVZ_A4.pdf
	00_02_04_A4.pdf
	01_01_A4.pdf
	01_02_03_A4.pdf
	01_04_A4.pdf
	01_05_06_A4.pdf
	02_01_A4.pdf
	02_02_03_A3.pdf
	02_04_05_A4.pdf
	02_06_07_A4.pdf
	02_08_09_A3.pdf
	02_10_11_A3.pdf
	02_12_A4.pdf
	03_01_A4.pdf
	03_02_03_A4.pdf
	03_04_05_A3.pdf
	03_06_07_A4.pdf
	03_08_09_A3.pdf
	03_10_11_A4.pdf
	03_12_A4.pdf
	04_01_A4.pdf
	04_02_05_A3.pdf
	04_06_07_A4.pdf
	04_08_09_A3.pdf
	04_10_A4.pdf
	05_01_A4.pdf
	05_02_03_A3.pdf
	05_04_08_A4.pdf
	06_01_A4.pdf
	06_02_A4.pdf
	07_01_A4.pdf
	07_02_04_A4.pdf
	07_05_A4.pdf
	07_06-07_A3.pdf
	07_08_A4.pdf
	08_01_A4.pdf
	08_02_03_A4.pdf
	08_04-05_A3.pdf
	08_06_A4.pdf
	08_07_A4.pdf
	08_08_09_A3.pdf
	08_10_11_A4.pdf
	08_12_14_A4.pdf
	09_01_A4.pdf
	09_02_03_A3.pdf
	09_04_A4.pdf
	10_01_A4.pdf
	10_02_A4.pdf
	11_01_02_A4.pdf
	11_03_06_A4.pdf
	12_01_A4.pdf
	12_02_08_A4.pdf
	13_01_12_A4.pdf
	13_13_21_A4.pdf
	13_22_25_A4.pdf
	13_26_29_A4.pdf
	13_30_34_A4.pdf
	14_01_05_A4.pdf
	14_06_12_A4.pdf
	14_13_18_A4.pdf
	15_01_08_A4.pdf

